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Recall At Xi J is aneigenvector
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Computing EigenvectorsandEigaspaces
For nanmatrixA we canfind eigenvalues nowwhat about eigenvectors
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Thus z i forms an eigerbasisofA soA isdiagonalizable
diagonalizedby 5 13 as 13331

Def For eigenvalue X of nan matrix it KerA XIn is called
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Def The gesetricnultiplicity of eigenvalue t of non matrix A
is the dimension of E Ket A XIn

Note Algebraicmultiplicity is not necessarily equal togeometricmultiplicity
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Recall A diagonalizable It has an eigabasis
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then concatenating bases ofEx Ex gives basis of IR
If time dinEye t r t diner on then there are notenough
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